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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1-  You might not be thinking about cholesterol yet, but high levels of cholesterol increase

YOUL' ===mmemmn of heart disease, so find out what your level is now.
1) risk 2) level 3) strength 4) exposure
2-  With the ——----- of the Internet, working from home has become a real phenomenon.
1) demonstration 2) credibility 3) advent 4) dexterity
3-  The teacher was gratified to see two older students ---—- to settle the playground
dispute between a number of third and fourth graders.
1) raise 2) encourage 3) promote 4) intervene
4-  Even though the unemployment rate continues to —————-, voters are still unhappy with
the president’s economic plan,
1) restore 2) abandon 3) abate 4) delay
5-  Her maudlin display of tears at work did not impress her new boss, who felt she should
try to control her ---—----- ‘
1} emotions 2) secrets
3) errors 4) restrictions
6-  The heavy rain did not ——----—-- —, 50 they cancelled their camping trip.
1) emerge 2) evaporate
3) subside 4) collapse
7-  Whitney is ---=----- about her shoes, arranging them on a shelf in a specific order, each
pair evenly spaced.
1) spectacular 2) fastidious
3} conscientious 4) conventional
8- This agreement is very =----- —- and open to various interpretations,
1} intentional 2) diverse
3) superficial 4) ambiguous
9-  Because our instructor was so unclear, 1 had to continually ask him to ——---- and
repeat what he was saying.
1) justify 2) clanfy
3) emerge 4) improvise
10- Because of the chels ----—--- cooking style, his food is easily identified in a taste test.
1) experimental 2) flexible
3) distinct 4) constant

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3). or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Remembering the past is an integral part of human existence. Without a good memory,
yvou would not be able to drive to work, hold a meaningful conversation with your
children, (11) ===--eu- a book or prepare a meal.
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Memory has fascinated humans since (12) ---—--—-- . Plato famously compared our
memory to a wax tablet that 15 blank at birth (13) -=--==--- on the impression of the
events from our life. Only in the past hundred vears. though, (14) --------- systematic

objective techniques that have enabled us to study our recollections of the past with
scientific accuracy and reproducibility. These range from laboratory tests of our ability

to remember verbal and visual materals (15) -----—-- more recent brain-imaging
approaches.
11- 1) then read 2) reading 3) to read 4) read
12- 1) ancient times 2) ancient time 3) time of ancient  4) times of ancient
13- 1)slowing taking  2) to slowly take 3) and slowly takes  4) that slowly takes
14- 1) psychologists have developed 2) have psychologists developed
3) with psychologists developing 4) for psychologists to develop
15- 1) with 2) from 3)in 4)to

Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1). (2), (3) or (4).
Then mark it on your answer sheet.

PASSAGE 1:

lomzation energy is defined as energy required to remove an electron completely from
a gaseous atom. As more and more energy is supplied to an electron, it ascends to
successively higher energy levels until finally it removes completely out of the
attractive force of the nucleus. The energy required for this final stage 1s the ionization
energy. The lower the 1omization energy of an atom the more easily it will lose an
electron. The ionization energy decreases as we go from the higher to the heavier
members of a group in the periodic table. Notice the high values of the 1omization
energy for the noble gases. Why is that so? Some of the factors influencing the
magnitude of the iomization energy are: “The distance of the electron from the
nucleus”, and “The shielding effect of the outer electrons of the atom™. The greater this
distance the smaller is the iomzation energy. This 1s because the attractive force
exerted by the positively charged nucleus becomes smaller and the farther electron is
removed easily from it. The greater the charge on the nucleus the more difficult it 1s to
remove an electron from its influence and hence the higher is the value of the
ionization energy. Another factor influencing the magnitude of the ionization energy is
the shielding effect of other electrons of the atom. The attractive force exerted by the
nucleus on the most loosely held outer electrons 15 partially counterbalanced by the
repulsive forces exerted by the imner electrons. The electron to be removed is thus
shielded by the inner electrons resulting in some decrease m 1omzation energy. The
more numerous the inner electrons the more effective is the shielding and
consequently the less is the ionization energy.
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16- According to the passage, which of the following statements is true?

1) The shielding effect used to describe the effect of inner electrons in decreasing the
attraction of an atomic nucleus on outer most electrons.

2) lonization energy is the amount of energy needed to remove an electron from a
given kind of atom to nearest distance.

3) It is very easy to remove electrons from the elements that have large ionization
ENergy.

4} lonization energy is a measure of the attraction of an atom from the electron in a
chemical bond.

17-  The word "counterbalanced” in line 17 is closest in meaning to ———-——— 2
1) countersigned 2) counterpoised
3) countermanded 4) counterbored

18- According to the passage which of the following elements has the smallest ionization
energy?
1) Mg 2) Al 3)Na 4) Ar

19- According to the passage, which of the following elements has the highest lonization
energy?
1) Xe 2)Ca 3K 4)H

20 According to the passage, ------=---=-- - factors influence the magnitude of the ionization energy.
1) one 2) two 3) three 4) four

PASSAGE 2

Infrared (IR). ultraviolet (UV) and nuclear magnetic resonance (NMR) analyses are
usually crucial to orgamic structure determination. Infrared 15 an excellent functional
group probe which can be used hand in hand with chemical tests for functional groups.
The infrared region of the electromagnetic radiation lies the wavelength between 10
and 107 m, When a molecule is irradiated with infrared radiation of various
wavelengths, certain wavelengths are absorbed by the molecule. The energy of
absorbed radiation i1s stored in the molecule as molecular vibrations, that is, as
vibrations of the various nuclei in the molecule. A plot of the amount of IR radiation
absorbed versus the frequency of wavelength of the IR radiation is called IR spectrum.
Each specific kind of functional group has a characteristic set of infrared absorption.
For example, the terminal alkyne bond absorbs IR radiation 3300 cm™ and the alkene
bond absorbs in the range 1650-1670 cm’'. To characterize an organic compound, the
chemist would normally use IR detect and identify functional groups and NMR to
determine the structure arrangement of protons and carbons. The existence of multiple
bonds, especially when conjugated, 1s an mdication that UV could be useful.

21- According to the passage, which of the following statements is true?
1) The electromagnetic spectrum lies in the IR region.
2) Each functional group absorbs just one specific wavelength of IR radiation.
3} A molecule absorbs all the wavelengths in the region between 0.000001 and 0.0001 m.
4) IR spectrum is an absorption spectrum that displays the variation of wavelength
versus the amount of radiation absorbed.
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22-  According to the passage, which of the following statements is NOT true?
1) The existence of = C = C — C = C - structure could be recognized by UV analyses.
2) IR analyses are usually determine the structure arrangement of protons and carbons.
3) NMR is essentially a method of determining the relative positions and numbers of
protons and carbons.
4) Organic chemists use just one of the IR, UV, NMR analyses for determining the
structure of a given organic compound.
23-  The term *hand in hand™ in line 3 is closest in meaning 0 -----——-— -

1) handedness 2) especially 3) friendly 4) together
24- Hydroxyl and carbonyl groups can be identified by --—-------—-- analysis.

1) IR 2)UV J)NMR 4} all of them
25-  The plural of spectrum is ---——-—-—- :

| } spectras 2) spects 3) spectrums 4) spectra

PASSAGE 3

Many substances have been known for years by their common names. For example,
water 15 never called hydrogen oxide, but the domain of chemistry is broad and its
compounds are enormous. So we require a systematic method for naming them. This
systematic method is ITUPAC which stands for the international union of pure and
applied chemistry. An earlier method still widely used for naming monoatomic cations
employs the suffixes —ous and -ic following the root of the element’s name to indicate
lower and higher oxidation states. The root 15 usually formed by dropping “um”™ or
“jum” from the element’s name in English or Latin. Monoatomic anions are named by
adding the suffix “ide” to the root of the element’s name plus the word “ion™. lonic
binary compounds are named with the name of the cation first and anion second.
Covalent binary compounds are named with the less electronegative element first. The
simplest of the ternary compounds are alkalies. They contain hydroxide ion and a
metal. In this case, the name of metal 1s followed by hydroxide. Another type of
ternary compounds are oxyacids. Chlorine, nitrogen, sulfur. phosphorus, and several
other elements combine with hydrogen and oxygen to form oxyacids. The most
common acid of a series usually bears the name of the acid-forming element. ending
with suffix —ic. If the central element of a related acid has a higher oxadation number
than it does in the most common form, the suffix —ic is retained and the prefix —per is
added. If the central element has a lower oxidation number than it does in the most
common acid, the suftix —ic is replaced with suffix —ous. If the same central element in
two acids has lower oxidation numbers than it does in 1ts —ous acid, the acid having the
lower of the two oxidation numbers is named by adding the prefix hypo- and retaining
the ending —ous. Metal salts of the oxyacids are named by mentioning the metal first
and the negative acid ion next, For these salts the ending —ic of oxyacid is changed to —
ate, and the ending —ous is changed to —ite.

26- According to the passage, which of the following statements is NOT true?
1) There are substances that are still known by their common names.
2) Hydrogen oxide had not been the known name for water,
3) Since the number of compounds is enormous, a systematic nomenclature is arbitrary.
4) IUPAC 1s the abbreviation of international union of pure and applied chemistry.
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27-  According to the passage, which of the following statements is true?
1) The ITUPAC name for CCl4 is tetrachlorure carbon.
2) F, H, S and P” ions are named fluoride, hydride. Sulfur and phosphide ions,
respectively.
3) The correct name for the 1onic NaCl 1s chlonde sodium and not sodium chloride.
4) Cu’ and Cu’" are named cuprous and cupric cations, respectively.

28- The ternary compounds are ----——--— -
1) Mg(OH), and AI{OH); 2) H,;8 and H,0
3) Oz and N3 4) Nal and CaS

29-  Which of the following nomenclatures is correct if the central element of oxyacid has
four oxidation numbers?

1} Hypochloric acid for HCIO, 2) Hypochlorous acid for HCIO

3) Perchloric acid for HC10O; 4) Perchlorous acid for HC1O,
30- The word "retaining” in the passage is closest in meaning t0 ——-—-——- ’

1} producing 2) shaping

3) keeping 4) taking
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